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MEC-004 : ECONOMICS OF GROWTH AND 
DEVELOPMENT 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer questions from each section as directed. 

SECTION - A 

Answer any two questions from this section. 2x20=40 

1. Discuss Kaldor's model of economic growth. In 
what way is Pasinetti's model of growth different 
from that of Kaldor ? 

2. Describe briefly the basic structure of optimisation 
in the Ramsey growth model. 

3. Bring out the difference between economic growth 
and economic development. What type of 
structural changes is associated with economic 
development ? 

4. What are the measures of economic inequality in 
an economy ? Is inequality bad for the 
economy ? Justify your answer. 
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SECTION - B 

Answer any five questions from this section. 5x12=60 
5. Explain the method of calculation of Physical 

Quality of Life Index (PQLI) for an economy. 

6. What is the 'Big Push' theory of economic 
development ? Is it relevant today ? 

7. Distinguish between policy failure and 
government failure. What are the major reasons 
for government failure ? 

8. Bring out the reasons for deterioration in terms of 
trade of less developed economies over time. 

9. Discuss in brief the theory of economic 
development propounded by Marx. 

10. What is meant by technical change ? What are 
the types of technical change ? 

11. What is meant by endogenous growth model ? 
Discuss briefly Romer's contribution to 
endogenous growth theory. 

MEC-004 	 2 



71:14.1.-004 

71.7• ( aTehrmi ) 

TrAta 

79; 2018 

714.1:11-004 : 	 achita 	3iti773r 

qyet : 3 	 37-AIWUTT 31W : 100 

37‘2- 	rq"'7 r4q11,VIR 71-- 9117 # Mqj dr/( OFIN / 

141•714 ct)• . t 	 : 	2x20=40 

1. kff&T - 31rfOw -k:4F-4 I. 	titti 	I 

Hiso 41iiird--4-11-4 Hiso Rmi T(1* A firA- 

t ? 

2. 'Trgitt (Ramsey) 1:19f4 1-ii o 	tdc-14-1 cbtuT (optimisation) 

rzfft .kitr4-11 WF T104 4 auk WAqi 

3. aeziw#1-rz * 341W fo-Trg ataT TcrEa 41--AR 

mchit 4(1-11 ,  triT44i, aTrf94--  fwm tie1.6 

t? 

4. 3421ard-PTT T 31TW 3-1TRT1aT 	*1 4-II 4-114 ? 

aRTI:friar 3l 	Tr 	(gtim t? 3 	drit 

wr---4q 

MEC-004 
	

3 	 P.T.O. 



1.117 -IN 

T:f %TT -A .. 	ITN A-1.1 -k alit q F.R : 	5x12=60 

5. f*-1:11342f-ara-T-zut ci 	71-4ff kt-achich t 41-d-- IFT-49-r 

(PQLI) tironcil c4 	 ROT 	au`-r -r--4R 1 

6. 31-tfi f4* 	' Nit v' feria  qzn.  t? -qzrr Tfz.  31r 

t (1 4-1t1 T4 M1014) t? 

7. -II 	RI t fay t4 3t{ kitchlt t fay 6A 4 ;EI -r at-T 

t? imitia *If-  1 (lob 	R * fqzh-  iq * laud:r chRui 

art? 

8. T(1371 t TINT 3-71"i7-*-fga.  1Y 	00-414it Icl .  4 

turf' -ER merol sir m 1 

9. -n-r-44 gki sifa4ifgci aiifft fa --*-Fr t -ft:r4tu -4-  1:(u 4 

10. lc hl ch i-1 o 1 -4 ezN1 3-751-srpq t? cichl ch 4 	ficick t 
rcircIN unit err t? 

11. affft -a Tf-l-r--4 iiiso -4 w afq -sTRT t? af-d--- 1iItlf-z 

fu-4-ffftTf-4N -414-Rtzh-Tr-q- 1- 1:074-ciiii41--A-Ri 

MEC-004 	 4 


	Page 1
	Page 2
	Page 3
	Page 4

